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B R R Sar 735 375 241 55 7 0 2 1,415
1 dtiEE 18 17 4 1 0 0 0 40
2 EHE 9 6 6 2 0 0 0 23
3 EFE 11 2 1 0 0 0 0 14
4 =HIHE 5 6 2 0 0 0 0 13
5 EHE 3 8 3 0 0 0 0 14
6 1A 6 10 5 1 0 0 0 22
7 =EE 12 1 5 0 0 0 0 18
8 RIS 34 10 6 1 0 0 0 51
9 PARE 10 6 4 0 0 0 0 20
10 HER 9 6 7 2 0 0 0 24
1 BEER 24 18 15 1 0 0 0 58
12 FER 45 11 6 0 0 0 0 62
13 BIRAD 11 4 7 0 0 0 0 22
14 #HEINE 10 1 0 0 0 0 0 11
15 FiRg 23 12 3 2 0 0 0 40
16 =R 5 2 1 1 0 0 0 9
17 AINE 4 2 1 2 0 0 0 9
18 BHE 9 5 4 0 0 0 0 18
19 s 2 4 3 0 0 0 0 9
20 EHE 6 14 3 1 1 0 0 25
21 gz B2 12 17 4 5 0 0 0 0 26
22 Ll 34 14 10 4 1 0 0 63
23 EHE 25 16 12 1 0 0 0 54
24 =E8 16 5 1 1 0 0 0 23
25 BEE 3 7 4 1 0 0 0 15
26 AT 4 1 0 0 0 0 0 5
27 KBRAF 7 4 2 1 0 0 0 14
28 EER 15 10 4 0 0 0 0 29
29 =RE 2 2 5 0 0 0 0 9
30 IR 1 1 1 0 0 0 0 3
31 EmRE 4 3 2 0 0 0 0 9
32 EiRE 2 7 1 0 0 0 0 10
33 ) LR 4 4 2 0 0 0 0 10
34 LEEE 15 3 7 0 0 0 0 25
35 wAag 36 8 2 0 0 0 0 46
36 EER 7 4 4 3 0 0 0 18
37 FNeg 10 2 3 4 0 0 0 19
38 ZiRE 20 4 6 3 0 0 0 33
39 =R 3 1 0 0 0 0 0 4
40 BEE 5 4 4 1 1 0 0 15
41 EEE 8 2 5 2 0 0 0 17
42 RIGE 4 1 2 1 1 0 0 9
43 REAR 6 4 6 0 0 0 0 16
44 RHE 3 0 3 1 0 0 0 7
45 EIFE 7 4 1 1 0 0 0 13
46 EREE 3 4 4 0 0 0 0 11
47 hiEE 3 5 1 2 1 0 0 12
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101 SV ET 3 0 2 0 0 0 0 5
102 ZBh 0 1 0 0 0 0 0 1
103 J1 ¥ 2 1 0 0 0 0 0 3
104 ictitat] 2 1 1 0 0 0 0 4
105 fie] I T 2 2 0 0 0 0 0 4
106 BT 0 1 1 0 0 0 0 2
108 &M 2 1 1 0 0 0 0 4
110 B i i 0 2 1 0 0 0 0 3
111 ichil 1 0 1 0 0 0 0 2
112 AB KM 0 4 0 0 0 0 0 4
114 HItET 1 2 0 0 0 0 0 3
115 KiEH 0 0 1 0 0 0 0 1
116 = T 3 0 0 0 0 0 0 3
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No. MERFFES A% e A =-31d A

ey {Ribeh

ZERR S Sar 1,744 13 119 1,638 1,354 284
1 dvimE 53 0 0 53 43 10
2 a8 30 0 2 28 25 3
3 AFR 23 0 1 22 16 6
4 FiRE 17 0 1 16 11 5
5 HEE 23 0 3 20 14 6
6 1A 33 1 2 32 24 8
7 EEE 27 0 0 27 22 5
8 RILE 60 2 5 57 48 9
9 AR 27 0 4 23 20 3
10 HEE 33 0 0 33 22 11
11 BEE 70 0 2 68 63 5
12 FEE 63 0 5 58 55 3
13 L 20 0 0 20 20 0
14 #HEIIR 14 0 1 13 11 2
15 HrinE 50 0 2 48 38 10
16 EWLE 12 0 1 11 9 2
17 a)IIE 13 0 3 10 9 1
18 BHE 28 0 3 25 16 9
19 [Ty 10 0 0 10 8 2
20 EHE 37 0 2 35 24 11
21 I B 12 41 0 7 34 26 8
22 B3 R 81 1 9 73 64 9
23 EHE 77 1 8 70 58 12
24 =58 37 0 7 30 22 8
25 BER 20 0 2 18 15 3
26 RARRT 5 1 1 5 5 0
27 PN 23 0 1 22 14 8
28 EEE 33 0 2 31 27 4
29 ZRE 11 0 0 11 9 2
30 LR 4 0 1 3 3 0
31 BHRE 14 0 1 13 11 2
32 BiRE 13 0 2 11 10 1
33 RIS 13 0 1 12 10 2
34 LEE 33 0 3 30 25 5
35 g 39 0 6 33 28 5
36 EER 27 0 1 26 13 13
37 EFIIE 25 0 1 24 20 4
38 ERE 32 0 2 30 28 2
39 =R 5 0 1 4 4 0
40 1= R 24 0 2 22 17 5
41 EER 28 1 1 28 19 9
42 RIFE 14 0 1 13 9 4
43 BEARIE 18 0 0 18 17 1
44 KnE 7 0 0 7 5 2
45 HiFE 14 0 1 13 13 0
46 BERER 16 0 0 16 11 5
47 B E 9 0 0 9 9 0
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No. MEFER A FriRft A =314 3zl
ZEh T K 1Eh

50 JBJIT 1 0 0 1 0 1
51 AL 1 0 0 1 1 0
52 BREETH 1 0 0 1 1 0
54 fhE™ 5 0 0 5 5 0
55 FEN 4 0 0 4 4 0
56 1EEh 10 1 1 10 9 1
57 JIE T 22 0 0 22 21 1
58 WEET 2 0 0 2 2 0
59 Friam 14 0 1 13 12 1
60 &iR™ 8 0 0 8 6 2
61 I BB /1 3 0 0 3 1 2
62 di 9 0 1 8 8 0
63 JEWT 5 0 0 5 5 0
64 ZHET 3 0 0 3 3 0
65 mEm 5 2 0 7 6 1
66 ABR 16 0 0 16 15 1
67 b i) 8 0 1 7 7 0
68 RARH 3 0 0 3 3 0
69 WA 6 0 1 5 4 1
70 IR 14 0 0 14 14 0
71 & 8 0 2 6 6 0
72 I 6 0 0 6 6 0
73 LEH 23 0 0 23 12 11
74 a 3 0 0 3 3 0
75 TRETH 6 0 0 6 4 2
76 Jt v 28 0 4 24 21 3
77 R 6 0 0 6 5 1
78 AEMET 5 0 0 5 5 0
79 KI&mH 2 0 0 2 2 0
80 RS 0 0 0 0 0 0
81 REART 5 0 0 5 3 2
82 BERET 9 0 0 9 6 3
83 @ 18 0 2 16 13 3
84 FHET 2 0 0 2 2 0
85 =G 8 0 0 8 8 0
86 A 6 0 0 6 5 1
87 L 3 0 0 3 3 0
88 Ao 21 0 1 20 15 5
89 ¥ 6 0 0 6 6 0
90 EHH 5 0 1 4 4 0
91 Bl 12 0 0 12 8 4
92 =T 4 1 1 4 2 2
93 =I5 2 0 0 2 2 0
94 WhEh 18 0 0 18 15 3
95 e sadiil 5 0 0 5 3 2
96 25 7 0 0 7 6 1
97 SN 8 0 0 8 7 1
98 HERET 9 0 0 9 9 0
99 mEm 2 0 0 2 2 0
100 =£24 19 0 1 18 17 1
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101 SWV=FEH 5 0 0 5 5 0
102 ZRH 1 0 0 1 1 0
103 JIRETH 3 0 0 3 3 0
104 fntaT 4 0 0 4 4 0
105 fif] 5 T 6 0 2 4 4 0
106 (=Xl 2 0 0 2 2 0
108 aHm 4 0 0 4 3 1
110 B 4 1 1 4 3 1
111 Gi=hiil 2 0 0 2 2 0
112 AB KT 3 0 0 3 3 0
114 BItE™ 3 1 0 4 3 1
115 KiEH 2 0 1 1 1 0
116 = 5 3 0 0 3 3 0
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